J ; u Year5 Week2 Day4

) Work out 262
2) What is £5 X 13?

3)  Which has the greater area?

S5 cm 6 cm

Y4)  Put these lengths in ascending order.

350 metres % metre 3 km




Calculate 132 X H

Find the area of the rectangle
23 cm

Two factors of H are l and H
What are the other 2 factors?

What is the next number?
14,300 14,200 14,100




Work out 1795 m X I8

Calculate |7 X 8

How do you know that 73 does not divide by 3 exactly?

Add together 27 and I,094




Dan earns £2,072 per month.

How much does he earn in a year?

Multiply 172 by 5
Which of these numbers has a remainder when you
divide by 5?

33 4 77 80

Work out 5,912 — 3,272




Work out I76 = Y4

Work out 26 X 27

Y4 apples are shared equally between 3 boxes.

How many apples are in each box?

+ 120 = 1,000

What is the missing number?




